Ruby - Bug #1375

Zlib::GzipReader0 0000000000000
04/13/2009 12:58 PM - sakuro (Sakuro OZAWA)

Status: Closed
Priority: Normal
Assignee: naruse (Yui NARUSE)

Target version:

ruby -v: ruby 1.9.2dev (2009-04-12 trunk 23171) |Backport:
[i386-darwin9.6.1]

Description

=begin
Zlib::GzipReader1000000000000000000000000000D00000DDO0
0000000000ooo000ooo0ooo0000D000n

$irb -rzlib --prompt=simple

RUBY_VERSION

=>"1.9.2"

Encoding.default_external

=> #Encoding:UTF-8

gz = Zlib::GzipReader.open('test.ixt.gz', 'r:UTF-8")

ArgumentError: wrong number of arguments (2 for 1)

from (irb):3:in initialize' from (irb):3:in open’

from (irb):3

from /usr/local/bin/irb:12:in <main>' gz = Zlib::GzipReader.open('test.ixt.gz', encoding: 'UTF-8') =>
#<Zlib::GzipReader:0x2f0800> str = gz.read =>

"XE3\x81\x93\xE3\x82\x93\xE3\x8 1\ AB\XE3\x81\x A 1\XE3\x8 1\ AF\XxE4\xB8\x96\xE 7\x95\x8C\n" str.force_encoding
'UTF-8' =>"0000000\n" gz.set_encoding 'UTF-8' NoMethodError: undefined method set_encoding' for #
Zlib::GzipReader:0x2f0800
from (irb):5

from /usr/local/bin/irb:12:in
=end

History

#1 - 07/16/2009 04:34 PM - yugui (Yuki Sonoda)
- Assignee set to naruse (Yui NARUSE)

=begin

=end

#2 - 08/30/2009 01:27 AM - naruse (Yui NARUSE)
- Status changed from Open to Closed
- % Done changed from 0 to 100

=begin
Applied in changeset r24704.
=end

#3 - 08/30/2009 01:34 AM - naruse (Yui NARUSE)

=begin
goooo

Zlib::GzipReader.open('test.txt.gz', encoding: 'UTF-8')
qoooooon

Zlib::GzipReader#read 10000000000000000000000000000000O0O0
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=end
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